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Differentiate necessary condition from sufficient
condition with appropriate examples. Discuss the relation
between causal connection and uniformity of nature.
10+5=15
FRPRE SWRRel FRCACT SR 16 ¢ 7MY 6 97
& AL | PRI AT ¢ A4Ffon gFwmAel Afoq
C TR AL | SO0+E=>¢

Ex/PHIL/UG/GE/4.4/2022

BACHELOR OF ARTS EXAMINATION, 2022

(2nd Year, 4th Semester)
PHILOSOPHY
COURSE — GENERAL ELECTIVE

[ LoGic |

Time : Two Hours Full Marks : 30

Answer either in English or in Bengali.
Group —A

State the converse of the following propositions. 5
ffeiie paefm wes 7=

All graduates of top ranking universities are best
brains in the country.
No reptiles are warm blooded animals.

Some professional wrestlers are ones who have had
an injury.

Some experienced drivers are not responsible
citizens.

No organic compounds are metals.

Categorize the following propositions and state
whether their subject and predicate terms are
distributed or undistributed. 5
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1)  Some elected candidates will be dishonest workers.

i1) Some members of fight club are not violent people.

i11) No harmful pesticides were genuine contribution to

agricultural development.

iv) All lawyers are ones who understand the pressure of

society.

v) No politicians are dishonest.

C. Explain the traditional square of opposition. 5
fbanire Rtk v iy F11
Or / 9231
A. Symbolise the following: 7
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i) London is the capital of England but Stockholm is
not the capital of Norway.

i1) Either Paris is the capital of France or Rome is the
capital of Italy.

iii) Neither Rome is capital of France nor of Spain.

iv) Rome is capital of Italy but it is not the case that both
Paris is capital of France and Berlin is the capital of

Germany.

v) Either London is the capital of England or London is
not the capital of England.

vi) Either Paris is capital of France and Rome is capital

9 |
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of Italy or Stockholm is the capital of Norway.

vii) It is not the case that Paris is not the capital of

France.

B. If A, B, C are true and X, Y, Z are false then

determine the truth or falsehood of the following:
IM A, B, C 79 =1 4R X, Y, Z Wy =7, oee
e oawfrs ool a1 Mg Fmad =

D (XvY)(XvZ)
ii) ~(BC)v(XY)
) ~7ZvX
iv) A.B
v (AB)v(XY)
vi)  (AvX).(BvZ)
vii) (X.Z)v(BvC)
viii) ~(B.C).~(BvC)
Group - B
Discuss the method of difference following Mill. Do you

consider it as an adequate method to know the causal

connection? Answer briefly. 10+5=15
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